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ol ANE2Y AU CEERD
SA - FH . C(32) - MISAY - BAS IR )5 o ClImE=rT}
XSS 2 - SHXIR 1,197 1,330 A133

301 LBEES 1,197 1,330 A133
11 HAABIXI S 1,197 1,330 A133
OMEB2H DLIES SAF 24 oI (ol atE )
AF 567,000 567 630 63
OMEZR2 DLIHY &5H| XA (0AE2)
23 630,000 630 700 AT0
HY2HAY(S2) (OIEHIIEL 88,572,509 88,385,341 187,168
ol 2| 88,188,511 87,980,305 208,206
ol 2| 88,188,511 87,980,305 208,206
101 Q1 AH| 62,553,264 62,546,658 6,606
03 SR (RINHY)2Z2RE=> 1,442,159 1,435,553 6,606
02022 A232(L3E)
6,608,0002 14! 6,606 0 6,606
204 MR AY| 2,550,420 2,348,820 201,600
02 =22l 2,550,420 2,348,820 201,600
O6=, ATAL, XIS A
A 185,0002x328% x 12 728,160 688,800 39,360
orag 22X 180,000 %2843 x 12 613,440 562,320 51,120
0892 A 175,000 461X+ 122 968, 100 857,460 110,640
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O&LHOEI(H ZE)(olarEZ)
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